3. C++ Inheritance 3.2. From Implementation to Interface Inheritance

Pawn : 2o Piece
it get_pts() const { Gy 1; }
};

10t calc_pts( Piecex pO, Piece* pl )
{
Lni ptsO;
2L ( pO->get_type() == PAWN ) {
Pawn* pawn_p = (Pawnx*) pO;
ptsO = pawn_p->get_pts();
}
( pO->get_type() == ROOK ) {
Rook* rook_p = (Rook*) pO;
ptsO = rook_p->get_pts();
}

Lt ptsl;

2 ( pl->get_type() == PAWN ) {
Pawn* pawn_p = (Pawn*) pi;
ptsl = pawn_p->get_pts();

}

: ( pl->get_type() == ROOK ) {

Rook* rook_p = (Rook*) pi;

ptsl = rook_p->get_pts();

}

ptsO + ptsli;

int main( void )
{
Pawn p('a',2);
Rook r('h',3);
int sum = calc_pts( &p, &r );
retirn 0;
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3. C++ Inheritance

3.2. From Implementation to Interface Inheritance

Piece

wnt get_pts()
{

. ( m_type

( m_type

Rook* rook_p = (Rook*) this;
rook_p->get_pts();

}
};

Pawn :

{

it get_pts() const {

};...

int calc_pts( Piece* pO, Piece* pl )

int ptsO
int ptsl
ptsO + ptsi;

Aot main( veoid )

Pawn p('a',2);
Rook r('h',3);
0t sum =

0;
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3. C++ Inheritance 3.3. C++ Interface Inheritance

Piece MO~ stack
{ T
int get_pts() = 0;
+s
¢l Pawn : Piece
{
int get_pts() congt { 1; }
};
Rook : Piece
{
¢ get_pts() const { 5; }
};
int calc_pts( Piecex pO, Piecex pl )
{

. ptsO = pO->get_pts(); A }.H

int ptsl = pl->get_pts(Q); , ?ﬁ% &_*i&g_vi

ptsO + ptsi;

! | [@mengaem ||

nt main( veid )

E

Pawn p('a',2);

Rook r('h',3);

int sum = calc_pts( &p, &r );
0;
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